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HOME SCIENCE
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: This paper contains FIFTY (50) multiple-choice, matching questions, each
question carrying TWO (2) marks. Attempt All the questions.

Wl WML v (40) sglselly usdl, WY A Assi oltaL Wl

S, U Hadisil yauel dviarll 8. wds s () @ 8.

Which of the following groups

provides the highest amount of
energy ?

(A) Fruits and vegetables -

(B) Fats and oils

(C) Sugar and Jaggery

(D) Nuts and Oils seeds

Which of the following is used to

measure the pectin amount ?
(A) Spirit

(B) Vinegar

(Cy Sugar

(D) Citric acid
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The conversion factor used to

convert nitrogen to protein .......... :
(A) 625

B) 0625

(C) 6.25

(D) 0.0625

Hydrogenated fat has ...............

(A) high melting point than

groundnut oil

(B) low melting point than ground-

nut oil

(C) equal melting point to cotton

seed oil

(D) equal melting point to coconut

oil
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5. Foam is a functional property used 5. [A-3idl 58 o-uqe w2 (s14) dla-l

in the preparation of .........c.ccoon... . cla@sdiAl Guaia qa & -
(A} Ghee (A) €l

(B) Fruit salad (B) §c uas

(C) Rabdi (C) sl

(D) Ice-cream D) sududly

6. All'carbon atoms of cholesterol are 6. S1Q¥R\e w2 %33 6l % sielHini vigil

derived from .........ccccveverren , Wil wa 8 7

(A) Acetyl CoA (A) dflaiwa COA

(B) Malonyl CoA ’ (B) 3Adi-uua COA

(C) Acetoacetyl CoA © aadxlama COA
(D) Triglyceride D) zecly2uds

7. “Menkes syndrome” occurs due to 7.  TAuHiell s ceaell vl 5129 ¢ Aridu

deficiency of .........cceoeeene... ) A-gix’ wn & 7
(A) Selenium ‘ (A) Ad-lun
(B) Chromium (B) sillant

(C) Copper @ siur

(D) Iron (D) 2ud4
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8. Normal fluorine content of drinking g fq«q wellHi sdidlg uHe ¢

water should be ...................

(A) 0.01 (l#H gig AsH

(A) 0.01 ppm
(B) 0.1 YI{lAx ig Qs
(B) 0.1 ppm
‘ g A
(C) 10 ppm | (©) 10 Y2 sig
(D) 1 ppm D) 1 (s ¢ig AL

9. Most bacteria, yeasts and molds 9. ~{A-uHidl s dwwsin wulesd 2l

grow best in the temperature range A 523, Al AR HiesHl el
of about ........cne........ Qail Qs ay & ?

(A) 16-38°F (A) a5-3¢° 3.

(B) -16-38°C (B) —15-3¢° .

(C) 16-38°C (C) 15-3¢° 3.

(D) -16 to —-38°F D) —-15— —3¢° &,

10. RDA of fiber for adult man 10, yvd au-i yys w2 3sudl 20t

18 e . : %3 :

(A) 40-60 g/day (A) ¥o—50 WM &
(B) 25-30 g/day (B) W—30 WA B
(C) 25-30 mg/day (C) Ww~-30 Hl.3um 8
(D) 40-60 mg/day D) xc;—so laum 8
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11. Good manager is one who .......... .

12.

13.

(A) reprimands

(B) delegates responsibilities
(C) constantly supervises
(D) postpones decisions

The standard used for denoting
quality of fruits and vegetable

PrOAUCE 5 -ev.vveoeeeeemnomneneen. .
(A) PFA

(B) FPO

(C) Agmark

M) ISI

When forecasting number of
meals, the data one uses most often

18 e e .

(A) profit and loss statement
(B) inventory on hand

(C) food cost percent

(D) previous records on sales
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13.

(A) sust 2l &

(B) waeeil Wil 8
(C) Add [Rlam 53 &
M [Aely dqad 24 B

$0L A WAL Geuleni-{l Alrdrgil

w2 Jaianld aive sulaal =2 :
(A) L2 bl AL Gualo aly 8
(B) & dlw, -l Guailo i 8
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(A) $MEL A sni-l vidaud
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14.

15.

16.

. Quantity cookery involves ........... .14,

(A)

Operational decisions

(B} Food cost control

C)

Factors responsible for loss

Methods of

(D) controlling

portioning

The type

cardiovascular disease patient ...... .
(A) Saturated fat

(B) Poly-unsaturated fats

(C) Mono-unsaturated fats

(D) Combination of all the above

With an increase in the family 186.

income, the percentage clothing

budget of a family :

(A) Decreases

(B) Remains unchanged
(C) Increases

(D) None of the above

Home Science-II 8

of fat used for 18.

opealioif RUSHL 24T A 20 B :
(A) Bues [yl

(B) viter vewl-l onta REa

(C) st 2 Fdselz YReo

(M Rue wen- Rsiardl uglel

geuddl e€lA A usiAl y2el

VUYL U O

(A) Qe el (Riqr w2ell)
(B) ““wiel—u-iAyI2s’’ Yol

(C) ““HiAl—2AA228"" Yrofl

(D) Buz sad AMsw

gdadl suasyi qmzl gl susinl

oFe-l 25l :

(A) "2l Wy &
(B) oleeuq 2udi -l
(C) aauRl W &

(D) Gunid s 4l




17.

18,

19.

‘Shears’ are used for :
(A) Folding of paper
(B) Tracing on paper
(C) Stitching of a fabric
(D) Cutting of a fabric

Visual perception of a person is

explained by :

(A) Theosten

(B) Gramson

(C) Allport

() Veblom

Kier boiling is used for :..
(A) Felting

(B) Manufacture of cellulose

acetate
(C) Cotton finishing

(D) Degumming of silk
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‘fanal’ Al quuy wy O

(A) sPq usl sal

(B) siaA 29 sl

(€©) swusdl Rad sl

(D) susd sua

2l glzell adl 2iqoqfd yuudl & :
(A Hlulized

(B) A

(©) »awd

D) asam

Bux eltudla-l Guala

(A) .%c-é[al "2 WY 8

(B_) Aeyelln a)._%[léa-l\L Gct;tavt w2

(C) YaB susw §l-lalla 2

D) fes sleeflan e ay 8
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20. The following is a mild bleach : 20.

(A) French chalk
(B) Boric acid
(C) Ozalic acid
(D) Methylated spirit
21. To remove grass stain from a 21
clothing article :
(A) Dipit in javelle water and rinse

in cold water

(B) Rub glycerine over the stain

and wash with cold water

(C) Wash with soap and hot

water

(D) Rub nail polish remover over

the stain

- Home Science—I1 10

(Al 59 e oellu B 7
(A) &u Us

B) ols Als

(C) »iisddls 2lls

D) #eldzs dlile

. sustigll L SIE §R s

(A) %4 di2ai gousla dst welldl

alg

(B) st Guz oellul- adl ésu el

dg

(C) Ay daw Ay wellell «id

(D) Aa vidla AHaz s R uAg



22,

23.

24.

Static electricity is built up in a 99

fabric that is :

(A) Hydrophobic
(B) Highly reactive
(C) Hydrophillic

(D) Coarse

Viscose rayon is a : 23.

(A) Resist fibre

(B) Remade fibre

(C) Regenerated fibre
(D) Rejoined fibre

Yarns having soft, unspun areas are

called :

(A) Gimp
(B) Flake
(C) Ratine

(D) Slub

Home Science-II 11

24,

. % susHl R [Agd Gou~t wd B ¢

(A) adgisiolls

(B) aa asda

(C) wadgiddls

D) wRAF

dlesiy 3d A

(A) Wl s1d6R ®

(B) ASs s156 &

(€) Aaizs s1502 B

M) AASs a1e1z B

% ‘Al i AW A QRS I BUA
8 ad :

(A) 30 sdani wd B
(B) &ds sdadi 2ud 8
(C) A sdani 2wd B

(D) WA SSdil »hq &
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25.

26.

Gms/denier is the unit used for :

(A} Resiliency

(B) Tenacity

(C) Absorption

- (D) Density

Factors that affect time

management are ................... ;

(A) Time sequence, body size and
composition
(B) Stages of family life cycle, peak

load and attitudes

(C)  Many disliked jobs and putting

as many  jobs into

simultaneous action

D)

Bringing needs and wants in

harmony

Home Science-II
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26.

/Sl 2 AL e 2l

ydlz & :

(Aa) Wdlu~ll

(B) 20

(C) wleielar,

D) s-=él

AUl a2 sl wRewl
) :
(A)

AHUAL s, ALY 56 Bl

Hau-L

(B) £ atus-l detssl, stdeuz-

2l - qaul

(C) =Bl ARAHAL Sid] wA gew sl

ws Wl sallFad s
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27. When one uses orange-blue 97 oy3 4§  3udl-o4 i+

and red orange-bluegreen, it - N -
& = aladu—oey it AUl &l endl

MAKES ..ooneeeveiiverenas . B
5AWMA 58 8 -

(A) Split complementary color
(A) welz s A-E Iayiosil
scheme

(B) 2218 Il
(B) Tetrad color scheme

C) V-udlom ol
{C) Analogous color scheme ©) Al L

" (D) Double complementary scheme D) sua Snedli-d Lol

98. The part of body which has 28 adl2- 24 25l e15si 2036 S A Adl-l

25 percent bones of the body

UL 8 -
is ...... .
_ (A) Wi
(A) Leg
(B) wiudl
(B) Skull
(C) Spine (C) 5ASWY
(D) Hand (D) sy

- Home Science-I1 13 P.T.0.]



29. Intrinsic values are ......cooocvvvvvvie. .

30.

(A)

(B)

(C)

(D)

Something which is 2 means of

attaining other goals

those which involve continual

process of decisions

Something which is from

within and natural

Something for enjoyment and

passing leisure time

Awareness of cyclical occurrence

of certain bodily experience is

called ......oveeveeennn. .

(A)

Time cycle

(B) Time orientation

(C) Diurnal rhythm

(D) Biological time

Home Science—I1

29,

30.

§-Zl-olls yeul vleq :

(A)

(B)

(C)

(D)

Wl darg, ¥ % ol BAud Raqquui

Hee3u [as

2 % ol Reladl udd WG ag
W B

Adl arg & ¥ viedl Geoid § A
sedl 8

2 & % vi-de—uMle i gue-l

HHY WAL Sl W2 B

sHls, wifRs vigetdl 3 ¥ Al wy

& dl AcAdA ey B

(B)

(A) UMY A

AHY BUMHI™AL

(C) siyr-d 4y

D) sudidlose uMy



31.

32.

According to Piaget, a child who is
targely non-verbal, and attempts to
coordinate purposeful movements
based on sensory information is said

to be in the stage of .................. .
(A) Sensory motor

(B) Preoperation

(C) Concrete operation

(D) Anal stage

From the perspective of “Life span

psychology” life stages are

important because :

(A) They help us predict

intellectual capacities

(B) They present a set of
developmental tasks to be

mastered

(C) They provide insight into the

values of particular culture

(D) They are perfectly correlated

with chronological age

Home Science—II
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32.

% ottty Qlaldl SEsal g1zl Aeldl
Acfl dgyds sar Add w1 vafbes
eld 8. Ylpu%e vgI i 59 v
& 7

(A) A-udl iR

(B) Mlatiuan

(C) si$le sivign

(D) wide 2%

alds Wi Ausidiw-l gfesiayl

apari-{l veluig Heed 54 8§ 7
(A) olllas Slueud ydsiouxn s0d 8

(B) MG Hlld s HI2 [AsRucLs

sl Wl wzd wl 8

(C) s wHIPrs Arglasl Heinl 2l

AHY U B

D) wNfes Gz WA Ayl el w1l

8

[P.T.O.]



33.

34.

The most important characteristic
of a good test is that it should
be :

(A) objective and discriminative
(B) generate data quickly

(C) usable by untrained people

(D) affordable to municipal schools

Studies conducted on ICDS

program indicate that :

(A) early childhood programs are

a waste of resources

(B) it is not useful for allround

development of children

(C) children from a well run
anganwadi do better in

schools

(D) children only come for food
and nothing else can ever

Happen

Home Science—II
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s ¥zl wdlaw w2 Hidl decadl

clalisdl 59 sidl A5A ?

(A) d2y i dartions
(B) »sull Hlddl Geu~t s34l

(C) avdaqiden dist gl Guala 4y

4% dqd

D) *y{lue el diNA dg

USALSIAN, WistHAL vl R ay
£ %
(A) Ul odsi w2+l sidsyl

Auladidl sous &

(B) suasi-i vall Qs w2 Gualal

el
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opnst ol wdl wal 53 8 .
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35.

36.

One and a half year old ‘Sunita’ cries
when her mother leaves, when she
returns Sunita comfortably moves
to her lap. According to attachment
theory Sunita is :

(A) Insecure-ambivalent

(B) Securely attached

(C) Insecure avoidant

(D) Secure avoidant

Excellent method of teaching
subject involving personal problems

and social actions is :
(A) Puppetry
(B) Visual aids

(C) Flash cards

(D) Models

Home Science—II
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35. wiz Al gl zul adl wsdl g2

AR 28 8 A wedl 2ud AR dH
widi adl é‘a seyd-e eflyl+d

I A sy add sdauu ?
(A) Sillsaiz—wwlldd-
(B) Asuidl-Azs

(C) Sflsdiz-N\aiSsw2

D) Asui—Naids2

. B ol MRl in APESs YRlal M

- Ryyayg dvaisa 1zl A4l Guu weld

8 :

(A) seyadll
(B) s Wl
(C) 5da u18

D) Hisa
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37.

38.

39.

The role of adult educator in

community programme is to :
(A) Provide services

(B) Function for people

(C) Provide guidance

(D) None of tlhe above

The Extension Education Program
should be :

(A) rigid '

(B) specific

{C) functional

(D) none of the above

Motivating people for action for

community organisation requires :

(A) focussed discontent with
existing condition

(B)

unfocussed discontent with

conditions
(C) group understanding

(D) none of the above

Home Science-II
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WML s sl vle Baw ewdadl

Rasl ofs ® :

(A) Azl wuudl
(B) dist 1 sl 539
(C) *uolesld 3uug

(D) Guz-u U4 sidua Al

fl s Moyl WA Ys ol
(A) RMF¥s el A

(B) NRBs eldl AsA

(C) §su-d dlal ATA

(D) Bu-waiell sifu Al

AYEH AudAL sl dlsial Miciien

Al |2 %371 8 ¢

A) wadw WRRyQ w2 wydin
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40.

41,

42.

" traditional

The serpanch, the head of the

panchayat is the member :

(A) Selected

(B) Elected

(C) Deputed

(D) Appointed

In classroom communication, the
stability and equilibrium is
maintained through :

(A) Use of teaching aids

(B) Knowledge of the teacher
(C) Incentives given to students

(D) Feedback

The greatest advantage of the

media over the

electronic media :
{A) Easy to use
(B) Faster

(C) Flexibility

(D) Two-way communication

Home Science-II
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40. AYY, ¥ dAwd-A yollan 6 d dey

41.

42.

&

(A) waeolldl Aeuve uiHen

(B) zelledl oodld uoyue wial
(C) nlAfca wld uey o-al

(D) [MylEd yd qeyve wiHal

aoluisii dalRMl Rudl v Agladal

AL cuoid g2l Aadl asy :
(A) &l a4 Gudldl gl
(B) (R su- g1l

(C) [euellaiid feu 2uvael
M) ulaeud gzl

YR AL SAS2IAS s 53

Y =

Higl §luel ¢
(A) qtﬁzqmi udg
(B) »sl
(C) dusdlay

D) & a8 e
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43. The most effective method of 43. a3g oa-uaaidl uZFu olctaal w2 el

showing process of any product : ULALS Yald

(A) Field visit (A) sidaadl yausia (sles dlile)
(B) Exhibition (B) deds

(C] Demonstration (©) [esiH

(D) Dramatization D) -uesl

44. The most important indicator of any B : e e -
44. [Asuaal sdsy-l dlell sscadl Wid :

development programme is :

(A) Infrastructure development (A) uavudl [Qs

(B) Schemes offered by the
(B) A Wil

Government

(C) People’s participation (C) digi-l euallerl

(D) Involvement of voluntary

D) WReos el AL
organizations

Horr_le__ Science-II 20



45.

46.

The basic requirement for effective

development communication

messages :

(A) Content of the message

(B) Adequacy of the message
(C) Organisation of the message
(D) Clarity of the message

Triangulation of data is considered
appropriate for confirming findings

in research because :

{A) Conclusions from one source
can be verified through data

from another source

(B) The researcher can complete

the project quickly

(C) It always leads to good theory

(D) Using only one source of data

is never valid

Home Science-II
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45.

48.

wAsls [Asimaall daR Ay we

g3(2aldl :

(A) Rzl azglamu
(B) zudl wRysla
(C) dtud dwa-

(D) weudl wredl

Bad 21 woydan (el el wldidl
Wldl Asat 53dl) A drei-l didudl

Assl sl Wiod W D HWA ¥

(A) a5 wiladl *Rdl FesA ol

wliddl R g1z 2mHld 53 asia

(B) dalas nsudl dididl Mi¥se YU

53] asd

(C) ¥ & % As AR ﬁtdd azs €13l

WY, 19

D) $5d A5 % WRAAL wid e

gden [Anes sidue ool vy«

LS IL
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47.

48,

Quota sampling is considered a

‘non-probability sample’ because :

(A) Some clusters or groups may

be under represented

(B)

One cannot generalise because

of inadequate sample size

(C) it is difficult to contact all

required persons

(D) One cannot use statistical tests

on such a sample

In order to consider a test reliable,
the reliability coefficient should

be :
(A) at least 0.90
(B) over 0.90

(C) equal to 1.0

(D) more than 0.50
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49.

50.

An independent variable is
manipulated in an experiment by

controlling for :

(A) different amount or intensity of

the same

(B)

its presence equally in all

experimental groups

(C) level of observation overtime

D)

single subject v/s multiple

subject designs

Pick out what is most similar in
qualitative and quantitative

approach to research.

(A) Both aim to understand reality

through a scientific process

(B) Both always use statistics

(C) Both lead to generalisation of

findings to population

(D) Both use standardised tests to

collect data

Home Science-I1

23

49.

50.

VLS MU AL 1o Aetl Meua
ABd s4l W2 wuiomi 55 Pd

quuasll ?

(A) dd o wu du dladeil auil

82lsl s3di

(B) e35 dull il d A5 Y

Avg

(C) ¥Muldl dd, vladisd $39

D) s Bl AH (V/s) s

alddaly dallad woy] g

sail2da dur sqai-A2da A ua-l
9] yuirdl sl LA 4 sy

ag Yoy § 7

(A) GaulAs uelnl wenmel oidsl &g

aflsd AUZAAL B

(B) il dfan we¥dlsu AR 8

(C) oindll uind uda [Fesdl vivgdaq

2 MY QLY

ofd  wledl 312

21-6S[Sns 22l o Guuisy 3

8

D) Witd 524l

[P.T.0.]



ROUGH WORK
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